RACE 1 Volt 2140 RANK

Only ranking.

A: **3-6-9**

B: **11-7-12-2-4**

C: **8-5-1-10**

Top 4: **3-6-9-11**

Quinella:

Horses: 3, 6, 9 U-Horses:

Total: $3 \times 40 = 120$

Trifecta:

1: 3, 6, 9

2: 3, 6, 7, 9, 11

3: 3, 6, 7, 9, 11

Total: 36 x 2 = 72



RACE 2

V65-1

Volt **2140**

RANK

6 Griffons Wine won easily last time from the lead in a quick finish. quick starter and attack towards tight and gets hard to beat from there.

1 Captain Tilly won last time despite a gallop. Probably sits pocket and challenges from there with a gap at last. **2 Pineapple** will get a nice position. Good place chance, but will find it difficult to win the race.

3 Grasshopper RL victory taken after perfect trip. gets a defensive trip along and have speed to join the in front.

A: **6-1**

B: 2-3-7-4-10-5

C: **11-8-12**

Top 4:6-1-2-3

Quinella:

Horses: 1, 2, 6 U-Horses:

Total: $3 \times 50 = 150$

Trifecta:

1:1,2,6

2: 1, 2, 6

3: 1, 2, 3, 4, 5, 6, 7, 10

Total: 36 x 2 = 72

RACE 3

V65-2

Auto 1640

RANK

9 Four White E.G. put in a good finish last time after a gallop. He has good speed for this company and should have a good chance to win when avoiding a mistake. **2 Bourbon Split** finished fast last time and is developing well. In the mix again. **3 October Skies** won an easy race last time, but the impression was really good and the horse should not be overlooked here. **12 Osken** comes from victory and Djuse is an advantage here. Warning!

A: **9**

B: 2-3-12-1-11-5-6-10

C: **8-4**

Top 4: 9-2-3-12

Quinella:

Horses: 1, 2, 3, 12

U-Horses: 9

Total: $4 \times 30 = 120$

Trifecta:

1:9

2: 1, 2, 3, 9, 12

3: 1, 2, 3, 12

Total: 12 x 2 = 24



RACE 4

V65-3

Volt **2140**

RANK

2 Mago Volante scored a nice win via the open stretch last time. Has a good starting position and will normally fight for victory here. Our pick. **11 Västerbo Blizzard** finished with energy left last time. Interesting with Örjan Kihlström for the first time. **5 Electra Winner** won easily in the last run and scored a comfortable victory. Tougher opponents now, but can't be discounted. **8 Global Embargo** finished well in a V75 race last time as fourth. Tough and strong and would prefer high speed. Is good enough to challenge.

A: **2-11-5**

B: 8-14-9-10-4-1-7-3-6

C: **13-12-15**

Top 4: 2-11-5-8

Quinella:

Horses: 2, 5, 11 U-Horses:

Total: $3 \times 40 = 120$

Trifecta:

1: 2, 5, 11

2: 2, 5, 8, 11, 14

3: 2, 5, 8, 11, 14

Total: 36 x 2 = 72

RACE 5

V65-4

Auto **2140**

RANK

12 Tenoutoften won directly in the last ridden debut and showed that he likes to compete under the saddle. Should have top chance together with Jonathan Carré. **7 Find My Way Home** makes an exciting debut in this discipline and belongs to the better horses in the race. **5 Indigo Keeper** finished well last time behind a superior Imperial Wine. Should not be discounted here. **2 Ransom Tile** was not as good last time as in the races before. Doesn't win very often, but could cause a surprise with some racing luck.

A: **12**

B: 7-5-2-4-6-8-9-10-1-3

C: **11**

Top 4 : **12 - 7 - 5 - 2**

Quinella:

Horses: 5, 7 U-Horses: 12

Total: $2 \times 50 = 100$

Trifecta:

1:12

2: 2, 5, 7

3: 2, 5, 7

Total: 6 x 2 = 12



RACE 6

V65-5

Auto **2140**

RANK

1 Nikita R. followed well as second last time behind Jeremias Sisu. The mare can open fast and if she takes the lead she should have a good chance to win this. **2 Emma Jet** galloped last time, but is normally reliable. Nice conditions and should be considered early. **8 Flying Drumsticks** won outright last time after a short break. Has good speed and could pass all opponents during the final half lap. **4 Granger** is used to tough opposition and should not be overlooked.

A: **1**

B: 2-8-4-6-3-5-11-7-9

C: **10-12**

Top 4: 1-2-8-4

Quinella:

Horses: 2, 4, 8 U-Horses: 1

Total: $3 \times 40 = 120$

Trifecta:

1:1

2: 2, 4, 6, 8

3: 2, 4, 6, 8

Total: 12 x 2 = 24

RACE 7

V65-6

Auto 2640

RANK

1 Bengt got locked in with energy left last time and showed that he is on the way to top form. He has a nice starting position and should be ranked highest in the race. **12 Staro Royal Mark** got a run under his belt last time and is certainly improved to this start. **3 Björkhagas Alfred** comes with good form and he is good enough to challenge for victory. **8 Carrera Hall** is consistent and has to be considered despite this starting position.

A: **1**

B: 12-3-8-5-11-10-4-9-7-2

C: **6**

Top 4: 1-12-3-8

Quinella:

Horses: 3, 12 U-Horses: 1

Total: $2 \times 50 = 100$

Trifecta:

1:1

2: 3, 5, 8, 12

3: 3, 5, 8, 12

Total: 12 x 2 = 24

Eskilstuna

NK

Only ranking.

A: **7-4**

B: **1-2-8-9-5-3**

C: **10-6**

Top 4: **7-4-1-2**

Quinella:

Horses: 4, 7 U-Horses:

Total: 1 x 100 = 100

Trifecta:

1: 4, 7

2: 1, 4, 7

3: 1, 4, 7

Total: 4 x 2 = 8

RACE 9 V3-3 Auto 2140 **RANK**

Only ranking.

A: **10**

B: **9-8-14-1-3-6-5-7-11-12**

C: **2-13-4**

Top 4: **10-9-8-14**

Quinella:

Horses: 8, 9, 14 U-Horses: 10

Total: $3 \times 40 = 120$

Trifecta:

1: 10

2: 1, 3, 8, 9, 14

3: 1, 3, 8, 9, 14

Total: 20 x 2 = 40